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Part A {Short Answer Questions)

Answer any eight questions.

Weight I each"

1. Write a brief note on "Compliance with /rccounting Standard.'

2. Define the following terms as per 45-26 i) An intangible asset ii) Amortisation

3. The riet protits of a Conipanl'- afler providing for taxation. lor the past five years are Rs. :12-000: Rs" 47.000: Rs.

;15.000: Rs. -r9.000 and Rs. 47.000. The capital emplo,ved in the business is Rs. 4, 00,000 on ra{rich a reasonable rate

of retum of l0o,'o is erpected.

Calculate the goodxill under:

ta) Capitalisation of Average Protit llletirod and

tb 1 Capitalisation of Super Profit l4ethod.

4. \\'hat is e.rternal reconstruction?

5. What do you mean by inter-company owings?

6 Write a sholt note on the adjustment of cross-hoidings.

7 What is meant by conducting financial activity as principal business?

L Write a short note on NBFC-Factors.

9. Write a short not on Annual and SemiAnnual Reports of Mutual Funds.

'10. What is Green Accounting?

Part B {Short EssaylProblems}

Answer any six questions.

Weight 2 each.

(8x'1=8 weightage)
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1i A Limited is engageii in manufhcturing olchemical Y 1br uhicli Rari N4arerialX is requireil. The
compan\ proi'ides r oLr lollorving infonlation 1br the year ended j lst l\{arch. 2u !7.
Rari l.{aterial X Rs. per unit

Cost price 380

Unloading Charges 20

Freight Inu:ard .+0

Replacemenl cost 300

Chemical Y

h..'{aterial consumed ;1.10

Direcr Labour [20

Valiable Overheads 80

Additional I nfbnrration :

(i) Totai fixed overhead for the ),ear was Rs. 4.00.000 on normai capacitl, of 20.000 units. (lil Closing
balance of Rau h4aieriaiX r'ras 1.000 units and chemical y ruas Rs.2.:l0c units. \,ou are retluired tcr
calcLrlate the total r'a1ue of closing stock o1'Raiv N'laterialX anclchemical y according to AS 2. uhen(a) Ner realizable vaiue of crreniicar y is Rs. g00 per u,it
(bl Net realizable value of Chemical y is Rs. 600 per unit

12 Distinguish between "Timing differences" and "Permanent differences" referred to in AS 22 on Accounting
for Taxes, giving 2 examples of each.

13 On 31st &1ar.cl-i.2014. Iiabiliries and assets of H Ltd. disclosed the fbllori.ing posirion

on the above tnentioned date. the tangible fixed assets u'ere independentl,r, r,alued at Rs j.50.000 and
goodrvil l Rs 50.000' I he net profit for three Years were 201 l - 1 2--Rs 1.03,200: 20l l .t -l--Rs i.0,1.000
and20l3-14-_Rs 1.03.100of rvlrich 2{.}ohu,asplacedroCeneral Reserve.thisproportionbeing
considered reasonabie in the industT in u'hich the compan,r, is engaged and ,uvhere ii tbir return on
iltvestment ma1'be taken a1 18-,i6. conrpute the value olcompanr.'s share b:,(a) the qe1 assets nret]:od
and (b) the i,ield merhod. lgnore Taxation.

Share 1n ofShares I 0Capital each( tu1ly paid
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